TNSET 2024

Module Name : Home Science
Exam Date : 06-Mar-2025 Batch : 09:00-12:00

Sr. .
No. Home Science

PAPER II

Match comrectly types of steel base packaging containers required for coresponding
food profduct :

(1) Type L (a) Saverkraut
2) Type M3 &) Meat
(3) Type MR (c] Apple Juice

(4) Both Type MR and MC (d) Figs

S S seuuTLeuNMIST 2_svurey Ll CILIT(HLEEH & (S, MM oo SigLuen LuSevmsor HlyliLb
ClamerssvsiraeflsT suenssenem GlUmmSs)s.

(1) suemsL (a) yefliy uplem Camar 2arm)smil
(2) euemas s (b) wmblen

(3) susma& MR (c) elSlsT Fmmy

(4) susmas MR WHDID M (d) SIBH0 urIssT

Az (D-(0), (2)-(d), 3)-(b), (H)-(a)
(D-(c), @)~(d), (3)-(b), (4)-(a)
B: (1)-(d), (2)-(b), (3)-(c), (4)(a)
(D-(d), (2)-(b), 3)-(c), (4)-(a)
C: (D), (2)-(c), 3)-(a), (4)-(d)
(D-(b), (2)-(0), (3)-(a), (H)-(d)
D: (D-(c), (2)-(a), (3)-(d), (4)-(b)
(D-(e), (2)~(a), (3)~(d), (H)-(b)
Given below are two Statements

Statement (I) : Head circumference and chest circumference ratio is equal at one year after birth.
Statement (II) : If head circumference is more than chest circumference, it indicates malnutrition.

@\ Te0oT(H) T MM G6T BB QSBMT(H &8 LILIL (D 6TerTeoT.
Gahmil- GRbhams LIDES @G AGLSHDHG LIDEG Sena &hmere) InHAILD T s&Hmereiler ellE g Fbnmi @maSLb.
Famml 11 - HEM6L &MHMETR| DML &MHmeTenal el SF &M @ BHSETE IS 261 | FFH S GMMLTH 3b,GLD.

A': Both Statement (I) and Statement (II) are correct
FaOHmI 1 LOMHOILD ol 1 LB Wemnel Fifl

B : Both Statement (I) and Statement (IT) are incorrect
G 1 I0MHMID Famml 11 SLHWIMaI Sauml

C: Statement (I) is correct and Statement (II) is incorrect
Faol 1 &l OOID FndHol 1T Seumi

D : Statement (I) is incorrect and Statement (II) is correct
Fa ol 1 Heuml LOHMILD Sl 11 &if]

Identify the glucose polymer with a, 1, 6 glycosidic bonds produced due to the action of bacteria and yeast.
UM& L BT DMOID FFeNLY 60T Q& WIEVLITTL LG 60T 85TT600TLOMS STevorL_LILL L o 1,6 GEhHCHTHIE L160)600TLIL|85EHL 60T o lq LI
GEHHCHTEN LIMTESL06MIT {60 WITEITLD &TeoTe]Lh.

A: Dextrans
QL& 6M1Y [T ITEdT6EN
B: Dextrins
QL&6n1g flereru
C: Invert sugar
LOMTHMIGFF T80T

D: Pyranose
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60 LITITGEDTITeN

Arrange the processing flow for production of dewatered potato meal

(1) Cleaning and Peeling

(2)Dewatering, Hand crushing and sieving

(3) Moisture conditioning by water addition

(4) Blanching and Pulping

BF BeHseb QeFwliul L 2 (BeneTéaH kG 2 6mme) 2 HUSHEHS LUSLILGISSID QL LSS WhIG LGS0
1. &55UUMESSIS6 HOID C5Tarlgge

2. 1B B&&D, @8 WIM6 [588 &S 60 LDMHMILD FL Q&F IS

3. BT GFFLILIGET epevld FILILGID Ermesid

4. Q&MH Brle CUTLG CaTaflEHS56) LDMHMID FnpME G SH60

A (D,*),(2,0)
1,423

B: (1),3).®. 2
13,42

C: (3)(1), 4,
3,142

D: (3,1, (2.»
3,124

The bleaching of dried tomato powder on storage is due to :

2 ihs H&6mef QUM CFLIGS emels @D CUME gHUBILD Q6UEH5E60 61&6T M6 gHLIOGH MG ?

A Too high oxygen level in the head space of the package
@@ Q5T L6 CLHLGH N 2 66T H & LILIG UITET 2,8 6rdleg60T
B: Too Low oxygen level in the head space of the package
2@ Q&MTG L6 CLHUGH W6 2 6T6T GHenmbS 2, & 6ol 6ot
C: Too High level of moisture content
P &L WITeoT FFLILGSLID
D: Too high level of starch content

RS LI UITET DT FFS S

Which of the following statement(s) is/are true about taste buds ?
(I) Taste buds near the tip of tongue are more sensitive to bitter

(II) Taste buds near the tip of tongue are more sensitive to salt

(IIT) Taste buds near the sides of tongue are more sensitive to sweet.
(IV) Taste buds near the sides of tongue are more sensitive to sour

B LDE 5 600TL UM MIET Sremel SI(HLOLIG6T LMW 6TES FnMMl SI6V6VS! SoMMIGET & flILITaTenel.

L. BIT&G HI6t01 &G 2BV 2_6T6T Femel BLOLSET P& HFLIL| SF60)6U T J2_00TTEFH 2 6oL e

I1. BIT&& BI600116:& SIHE 6L 2_6T6T Fremel S|(BLDLS6T FS 2_LIL|SHS6Ten0 FaJ2_600TTFF 2 606l
11 BTEE6T LISSHEITL 1960 2_6TeT &6mal S([BHLOLIGHET AH & @6l Srenel Foll 2 aTIFF 2 L Wienal
IV. FT&S 60T LIS &HaUTLL60 2_6T6T emel J(BLOLS6T P& eI & Femel Snlf 2 600TFEF 2 6L Lemel.

A: (I and (IV)

() LODID (1V)
B: (II) and (III)

(I1) Lo MILD (I11)
C: (1) and (IV)

(IIT) LoMMILD (IV)
D: (I)and (IV)

(D LHDID (1V)

An environment friendly corrugated fiber board box with ventilated partition for transporting fruits and vegetables is developed by.

Environment friendly corrugated fiber board box was developed by.

LILDMBIG 6T MHMID &TUISM & 6T Q& TeoT(H Q&F6U60 SMTMHEMITLLLOMET LIS 6L 6T Snlql &HMIEF @Lev L L QB6rflhg BT
LIVen& QUL I96mUI 2 (FeUM&H RIS

GHMIF GV BLL QBeflba BT LIvemns QUL IQemW 2 (HeUTsSRWwS!.

A: CFTRI
CFTRI
B: DFRL
DFRL
C: CTCRI
CTCRI
D: IARI

TARI




Which of the statements are true about sensory tests ?

(i) Product oriented tests helps to identify the differences among the food samples

(ii) Degree of liking is assessed by affective test.

(iii) Degree of preference is evaluated by difference tests.

2 UTIER GEFMHMETSH6T LMW 6ThS Sammiger &ifl 2

() sWMILIL FTTHSE CFMH6TSH6T 2 6006 LOMH 15 EH& G @60 GUIWITET GalmiLIT(HIGE0 6T {60 L UITETLD & Meuor
25UBDS . . o

(i) &7 N @GLILILD 06T 2_600T 6| GFMTHement eLneuld G LI ILGO&RmES!

(i) &7 NBLILSH 60T (WeiTeniflemin, GaumILIT( C&FMHEMETS 6T eLpeuld G LI ILIGSR M.

A (i) only

(i) LLGID
B: (i) and (iii) only

(i) LnMMILD (iii) LG\
C: (i) and (ii) only

(i) LM MILD (ii) DL (KD
D: (ii) and (iii) only

(i) LDMMILD (iii) LOL(HILD

The style of service best suited for Ambulatory patient is----------
gpibevl Lifl @pmwimerflé@ Wlaea b QUITBS ST CFenel Limeoorl

A tray service
S0 CFemeau
B : counter service
GLoenIL 2_6t0T6)Y GFeme
C: cafeteria
SMHCFem6 F) D MI6GuoTLq LIS
D: Table service
Ceng Ggemel
is defined as proposition or a set of preposition set forth as a expansion for the occurrence of some specified group of phenomena
eTedTLIg Fev GMILLILL Blaspeyserflet @& weleT BlaLpeysasmer eflereasnns GOILLILLUL L &S0 jces!
& 556 6T OFTGLIL
A': Probability
Bl&DS &6

B: Questionnaire

GH:eTell G HmeT
C: Hypothesis

&(HSICSH 6T
D: Variable

o

is a vitamin like factor which is essential for the oxidation of fatty acids, and can be biosynthesized from the amino acid lysine.
eTeTLISI Q&ML ofdlev 2 ully QeleflCWMMER MES W& (WS W LnmeT eneul L LA6T GLIMT6TM &M T60ot] W meor

eV 6T eTeorLILIHID LA Ceorm v EH e\ BH L 2 UNTQAUTHET QSMTE&LIL QFWwWIL@ILD.

A: Choline
G&medl6dT

B: Cobalamine
GaumeuLsledr

C: Carnitine
SITI6oT11q 607

D: Carotenoids

&GITIY60TTUI(H & 6T

Match the following in a correct order :

List | List Il
(1) Mint (ij Diacetal
(2) Cloves (i) Methol
(38) Butter (i) Diallyl di sulfide

(4) Garlic (iv) Eugeaol




gflwrest suflemsuilev ClUM(HE SIS,

(1) ydlerm (1) eoL Ly

@) ESaTEE () dssmed '

(3) ©leustorblevoru () 6oL 46m6U6L 6DIL F6vemLI(h)
(4) el (V) wHerme

Az (D), (2)-(iv), (3)-(i), (4)-(iii)
(D-aD), )-(AV), 3)-(D), (4H-1D)
B: (D-(iv), (2)-(iid), (3)-(ii), (H)-()
(D-AV), (2)-(1D), (3)-(1), (4)-(D)
C: (D), (2)-(iii), (3)-(1), (H-(iv)
(D-AD), 2)-(11D), (3)~(), (4)-(1V)
D: (D-(), )-(iD), (3)-(iid), (H-(iv)
(DD, 2)-(D), (3)-(10), (4)-(1V)
All trans retinoic acid and 9-cis retinoic acids are oxidized forms of .
6T6VEVIT QL9 Geormuil & Lfleuii&6T LoMmILD 9-Fle QL g Cermuils ojlleumisEp 2 UITsLILGSSLILIL L

A': Retinoic acid

QUL Iy Ceormuils gjuflevid
B: Retinol

QUL Ly GeoTmeL
C: Retinal

QULLQ60TITEV

D : 3-dehydroretinol
3-emamL_ G QL 19 G6uTTey

Administration of enteral formula into a gastrointestinal tract via pump refers :

GLVGG6T euTilaill GSH T 2_aorenel 655 CLNEILNTS QFVISSIaIS!

A': Intermitlent drip feeding
@enLell L QFTL(H 2_cwrell L6
B: Nasoentric tube feeding
NG (&, 2_600T6Y &G L0 6L auL GLPMUL 2_6uoTaw, L L6V
C: Bolus feeding
QUIBEIGeflenas 2_6toray,L_ L LD
D: Continous drip infusion.

Q&HTLY QFTLE® 2ar” (Hemd

Match the clinical risk factor with cutoff range for Cardiovascular diseases :

List 1 List Il

(1)  Waist Circumference-Men (i) >35in
Waist Circumference- (i) <40 mg/dL
Women

(3) HDL Cholesterol-Men (i} <50 mg/dL

(4) HDL Cholestercl-Women (iv) >40in

Bmsw CpmusEmasTear 5 surbULeT wHSEGIa Hubs snraflaw Qurmss s.
I n
(1) smsEhsarar QEHY HHpDaTea (1) >35 Surugeumkiser
(2) Quemsgnssrer GHUY sDHDeTey () <40 0. [ClL.88l.
(3) WETHERSHTET 675156760, QEmmeveiILymsd () <40 Bl /G681,
(4) QuesasEméemeT 6815660, Qlamevsiulymsh (V) >40 SirbGsoriser

Az (D(ii), (2)-(i), (3)-(0), (4)-(iv)
(1-(I), (2)-(11), 3)-(1), (4)-(1V)
B (D-(iv), (2)-(iii), (3)-(ii), (4)-()
(1)-(aV), (2)-(D), (3)-11), (4)-D)
C: (D), (2)-(id), (3)-(ii), (4)-(D)
(1D-(IV), (2)-(I), (3)-(1I), (4)-(D)
D (D-(v), (2)-(D), (3)-(ii), (4)-(iii)
(1)-(aV), (2)-(D), (3)-(1D), (4)-(1T)
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Match the correct stages of Sugar cookery :

List | Listnl
(1) Thread () 121°C-130°C
(2) Soft ball () 118°C-120°C
(3)  Firm ball (M) 112°C-115°C
(4) Hard ball (IV)  110°C-112°C

Fr&seny urdles sflwmer Hlemsvsnw GIUM(HEHS5IS5.

(1) &b ugbd () 120°C-130°C
(2) Ouwstrubg) Hleneu () 118C-120°C
(3) Hletro Lkl Hlewsv () 112°C-115°C
(4) &yeT ubg Hlemey (Iv) 110°C-112°C

A (D-(IV), (2)-(), (3)-(D), (H-D
(D-AV), (-1, (3)-1D), (4)-(D)
B: (D)-(), (2)-(D), (3)-(III), (4)-(IV)
(D-D), )-(D), (3)-(110), (4)-(1V)
C: (D)-(1), 2)-(D), 3)-(IV), (4)-(D
(D)-1D), (2)-D), 3)-(IV), (4)-(D)
D (D)-(AV), (2)-(10), 3)-(I), (4)-D)
(D-AV), (2)-(1D), (3)-(1), (4)-(D)
Which form of Vitamin A contains 20 carbon atoms in the form of alcohol in its structure ?

G (LD EITETaU M MIGT 6THS U6t &UIMET 606U L LAl6T A 2(560T &L LemnLILN60 20 SHTTLIGHT 260188 6M6T 2L605HaMIT6V allgeiley
Q& mevoT(h6Teng! ?

A Retinal
QU LLY60TITEV
B: Pro-Vitamin-A
LG emeu L L Lol6dT-A
C: Retinoic Acid
QUL Iy Cermuils ojuflevid
D: Caretinoids
&G 60T TR & 6T

The retrospective review of food intake per day, per week, or per month refers to :
6 (1H [5T6r160T, ([ GUTTSH 60T J6V6VSI (I LOMHSH 60T LT CarmEHERIL LIMT&HGLD S LILenT 6TeTLS @& GSMER M.

A Daily food record
Feor 2_evora)Ll LISy
B: 24-hours recall
24 In6oofIGIBIT [Bl6060T6Y T [75560
C: Food frequency
2_600T6) B8 LD G\ 61 6TOT
D : Dietary history

FLL 2 eoorelledr augevmmi

Match the following symptoms with their corresponding meaning :

Symptoms Meaning
(1) Hyperglycemia (]  Excessive urination
(2) Polyphagia (1)  Excessive thirst
(3) Polyuria () Excessive hunger
(4) Polydipsia (IV) Elevated Blood glucose

£&sTamIb HNlGDl&EsnsT aunmeT QUITIHEHLST ClLm ([ 5)s.

21\l ssit Qum(msit
(1) eoapuisleerfflum () @suugurs AT Slsse
(2) umeSGugdlwim () SlsLLWITET STSLD
(3) umed wflwmr () eidsiugwime ugf
(4) umeSligLifwim (IV) 2wi@rss G Enésmen

A (D-V), (2)-(D), 3)-(ID), (4)-(11D)
(1-(V), (2)-(D), (3)-(1D), (4)-(IIT)
B (D-(IV), (2)-I), 3)-(I), (4)-(IT)
(1-(aV), (2)-(1D), 3)-(D), (4)-(T)
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C: (D)-aD, -0, 3)-AV), (H)-1D)
(D-AD), 2)-D), 3)-AV), (H-(1D)
D: (1)-(IID), (2)-(1V), 3)-(D), (4)-(ID)
(D-1D), (2)-AV), 3)-(1), (4)-D)
Hypothesis testing research is generally referred to as :
FHHSICHITET GFMHE060T 2T TUIFH QUTSIEUTS 6TedTenT 6TedTml GMILLIL LGS M S

A': Survey Studies
&6 U6

B : Experimental Studies
QFWEWEMM bUl6)

C: Conceptual Studies
&HSH I gyll6)]

D : Narrative Studies

TOSSIMT 2BpU16]

Given below are two statement :

Statement I : Rayon is man made rengenerated fibers.

Statement II : Rayon is a manufactured fiber produced by dissolving and extruding a natural polymer or its chemical derivatives.
In the light of the above statements, choose the correct answer from the options given below :

@\ TeoT(H) T M MIGET HCLD QSHBM(H &8 LILIL (D 6TeTeuT.

FaMml 1 : GFUITEIT eTedTLIG L06vflgeorTev SWIMl&BS&LILGILD LSeTM& S (regenerated) HTIFlemLOWITGLD.

FaMmi 11 : G UITET 6T6dT LIS @) UWLIMED S 6U6m& LIGULILY (Polymer) 606081 jaummledr CouBHullwiev euldlLIQLIMIHETE 6T G & Teor(®)
SWT&aUUBILWL BTFlenpwm@LD.

GUMFnMLUILLL Fammisserfler ofiq it ulley Frflwmert aflemLeml ELps s eoorLeumninledmhbs CEe Q&FUIss.

A: Both StatementS I and II are correct.
Fammi I oMb 1T Fflwmergl
B: Both Statements I and II are incorrect
Famml 1 oMM 11 FlWTeTs 31606V
C: Statement I is correct II is incorrect.
Famm 1 FflWmeors CLOeVID Fammi I FflumeTs! 3j6v6v
D: Statement I is incorrect II is correct.

Famml 1 FflWmersl oevev GLuald Fammi I Fiflumers

Given below two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A) : Cross dyeing and Union dyeing are same.

Reason (R) : Both may produce multicoloured effects.

In the light of the above statements.

Choose correct answer from the options given below :

FEC QBETHSHSELILL G 6T @) Feuor(h oM mis6rflel spettmi SleuoflILIem T (A) LDMQMTETM &TFevof] (R) 6T6dTm
GM&&LILL(H6TemSI

SleofllILenT (A) : GMISGE FTWCLMMEY IMHMID CFIHNSHS FMLD @ resor@®ILD FLoLb.

&myetl (R) : @Teoor(® euemnss FTd B enmuileb LIGVEUEN S 61 600TE00T MBI &HEMET 2_(HeUTEH &L,
GUMFnMLILIL G 6Ter & en &G erler 9l liLiemnLulley BLpgamevorILI(GID Fflwmer ellenLenwis CHe| Q&FUls.

A: Both (A) and (R) are true and (R) is the correct explanation of (A).
gue.wﬂuuemlj (A) IDMHMILD &Tevot] (R) elleng s migeT Fiflmerg GLaiid (R)-65T eNl6m&&Ha 6T (A) ellHE& JHLIMLUISTS
2 _drernal
B: Both (A) and (R) are true and (R) is not the correct explanation of (A).
SleofllIL|emT (A) LDMHMID S&TFevot] (R) ellems s mig6T &Fiflmerg GLaviid (R)-60T ellem& &6 6mT (A) allHE ML IS 606V0
C: (A)istrue but (R) is false.
(A) Fflwmeral LMHMID (R) &eUMITTS
D: (A)is false but (R) is true.
(A) BUMTerTgl GLosviLd (R) &FiflWmeors!
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Choose the correct standard for testing the fabric abrasian resistance :
sleoofl Aty TGS Tlienu CFnGé s FflumeT I&Hens CHi6 Q& uiwea]D.

A: ASTM D 3884
ASTM D 3884
B: ASTM D 3664
ASTM D 3664
C: ASTM D 3774
ASTM D 3774
D: ASTM D 3994
ASTM D 3994

In which knitting the running of Wales perpendicular to the course of the yarn is seen ?
6TeUGU6m &5 LITeoT LiledTereumenL_Uilev Gausuen ohLeotdl CaHMIenIMNEG QFBIGSHSTH NG LILGR S ?

A: Warp Knitting

QML euen &Ll LI edreorev
B: Weft Knitting

QeI euemas Ll LiebTeoTen
C: Tricot

LemgasITL (Tricot)

D: Purl
L6V (Purl)
The process of dropping (or) sprinkling dye liquor randomly is done in method.

@ 6l6aIEmN S WITeT Q&FWeLpenmUiey Fmw Brmers CEMTImWINNTG Q56fl&E60 QFweawWenm QFUWLILGRMmSI.

A Batik
LSS & Wenm
B: Electrostatic dyeing
Blemev et emmuiley FrwdlH 60
C: TAK dyeing
LIT& 6L (LPemm
D: Tie Dyeing
&L 1q Fmwudl(Gigev

Which plant fibre is different from cotton fibre ?
LGSS Qaowuilefiehs GumiLLL STaT Genip 6g!

A: Silk
UL®
B: Nylon
60V [H6VITET
C: Linen
5550
D: Wool
sLuerl

The fibre structure made from processing natural material is termed as :
@ WMHen& LI QUITIHL G 6M6TE G1& W6LITE &6U5 60T eLN6VLD 2 (HeUME & LILIL L G)6nLp SemLDLIL| 6Telal MM HenLp&&LILGSRETmS ?

A Silk Fibres

UL ® Brflenio
B: Wool Fibre

el Briflemip
C: Regenerated fibres

18emmEs & (Regenerated) BT flemLp
D: Acetate Fibres

ACLL prflemip

Pick out the genetically modified cotton :

LSS DTHMLD QUDHD LGSHenw C5IHe S0

A': Organic cotton
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S T&MelE LGSS
B: Bt Cotton

2_ullfluiev (Bt cotton) LI(H&SS)
C: Eco friendly cotton

@LPGVET (Ecofriendly) LI(HSH)

D: Colour cotton
BlpweoLw LGSS

Identify the finishing process that burns off linters and thread of all fuzz and fiber ends :

Sleofl&erfledT GLD6L @) (HEHGLD HIT6L @)eMLP&HEMETLD, BT6VE 6T D 6TflH S (P18 G Q& W6V MM 6L WITETLD
&5 T600TEYLD.

A Fulling
FJ QF IS
B: Moireing

CHUISH (WemMUI6L QI 6L 560
C: Beething
el wemm
D: Singeing
We 7 B&Es60
Making of a new product from the waste of an old one is known as :

UempWw QU6 &Llleyssefley @bS LS W QUIMTIHL &em6T 2_(HeU M G 6US! eTeoT PWILILGH S,

A': New product
LUSW QUTmeT
B: Fashion designing

2,601 QUL eUEmLOLIL]

C: Recycling
DYl &PHE

D: Repairing
LUWsILTTS 56

Given below are two statements related to types of errors in testing hypothesis :
Statement I : The hypothesis is true but our test rejects it (Type I error).
Statement II : The hypothesis is false and our test accepts it (Type II error).

FECLD QHTH &&LILLBH6TET @) T600T(H FoMMIGET &(1HSBICHTen6TEF CFMHen 6 GFieuHaveTer LenLpsserfledr 61608 & 6T
Faml | : HBHSICSHTET FIWMEOTSHTS @ (BHSTED C&FTHM6T iFHemenr BlFTsFl&&Harma
Famml 11 : SHSICHTET HEUMTEH @ (HHSTEVID CFMTHENET 3|HMET MHMISGQ&HTATRMSI
GUMHEMLILIL L Fammisserfler o liLenLuleh EC Q&TGH &a&LILL B eTeraummledlmba &iflwmeTr LG enes Csiey
Q&FWIWeLD.
A: Both Statement I and II are correct.
Famm 1 Mo 11 Flwmeoren el
B : Both Statement I and II are incorrect.
Famml 1 oMo 11 FlWmeTen el 9606V
C: Statement I is correct, Statement II is incorrect.
Famml 1 FfIWITETSI SL6TM6 FnMml 11 HeUMTETSI

D: Statement I is incorrect and Statement II is correct.
Tl | HEUMTETSI OLETTEV FnM M 11 &l Wi Teors!

A paper pattern of a particular size that can be used to make new patternsof proportionately larger or smaller sizes by following a systematic procedure is called

SO L 9l6eTa ML HITET HF&HHemalll LIWTLRSS (WM WITeT Q&FUIWenmen s Q&M elS&mamrLiuLg Qurflu
Sveugl AWl 966 LG {88 [H&E6M6T 2_(HEUTEEGLD (LM 6TEURITNI {MP&HSLILIGGH MS ?

A Drafting

QUEMITEY 6L UM GG 6V

B: Draping
Sleoof] LILG LOMeuTLD
C: Grading
STULGSSIH

D: Developing

2 (HSHSIVEHHE
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Given below are two statements :

Statement I : Zipper must be correct for garment. No bulging or wavering on tape is allowed.

Statement II : Draw strings must be secured or finished at both ends.

In the light of the above statements. Choose the most Appropriate answer from the options given below :

FECLD @ T6T(h FnMMIGHET QSBM(H &8 LILIL (D 6TeT6uT.

FaMml 1 : LILeSleneooTLILIL 1 6M& QL60L&HE65E FfWMe @HeHGLD BTLTel6 SIMisEHCIIT, 2emev CLITETM6m eI Gul TSI
FaMmI 11 : eUeMITIHIT6v0T @) T600r(h HievSHerflevild LIMGIS TLILITETS &6 WD (LD (LML WITETS &6 D &) (H&E Cauetor(ib.

Fflwmer aflemL_emwisd CHTHASMH

A': Both Statement I and Statement II are incorrect.
Gl T LOMMILD 1T 6UMTEOTEnE

B: Both Statement I and Statement II are correct.
Famm 1 DM 11 Flwmeoren el

C: Statement I is correct but Statement II is incorrect.
Famml 1 &F1fl Famm 11 Heumi

D: Statement I is incorrect but Statement II is correct.

Fahml 1 Heum gammi 11 Fifl

Maich correctly the Warp way defects with their comesponding Penalty points :

(Warp way defects) (Penalty points)
(1) 25cm-%0cm (@) 3
(2) 12.6cm-25cm b) 5
(3) 2.é6cm-12.5cm e} 1
(4) Upto2.5cm d) 10
LOL&(5, sulfl HEUMISEN6T 245 EnIL 6T CIETLTLemL SesaTLenesT L|siTar & @mLeir
ClummsS518.

WLE(G sull Seumiseir HesorLenenTL) LjsirerlgeT

(1) 25e¢m-90cm (@) 3
(2) 12.6cm-25cm (b) S
(3) 2.6cm-12.5cm () 1
(4) 2.5 cm eueniy (d) 10

A (D(d), (2)-(b), (3)-(a), (D-(c)
(D-(d), (2)-(b), 3)-(a), (4)-(c)
B: (1)-(a), (2)-(b), 3)-(c), (4)-(d)
(D-(a), (2)-(b), 3)-(c), (H-(d)
C: (D), (2)-(b), 3)~(d), (H(c)
(D-(@), (2)-(b), (3)-(d), (4)-(c)
D: (D-(d), (2)-(a), 3)-(b), (H)(c)
(D-(d), (2)-(a), (3)-(b), (4)-(0)
Which method is used to develop a pattern from body measurements ?
6TH& (WenmUiley 2 L6y gemafB &eneTll LWeTLOSH SIF&[H 2 BaTsEESULGR DS

A Pattern Making
9|F&(H QFUIS6
B: Draping
Sleoof] LILG LOMeuTLD
C: Drafting
6UEMTE) 6U1Q 66D G &6V
D: Commercial method
QU1 & (LDEIM
The Method of joining two or more pieces of materials together by row of stitching is called :
@ ueor(® WMHMILD SIHHEGS CLMLIL L 51600115 &1600T(H) & 606 @)60r600TE8 aliflen&F s engUlenevll LIWeTLIRSSI0US!
A: Embroidery
L5 60 U6V
B: Facing

MGGV (PSLIL

C: Seam
AL (BS MG W6V
D: Finishing
FrmeeD

A person with generous bustline, shapely waist and legs and pronounced hip is said to be of :
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RBUT QUGBS WM TTLE CHMH L&D, allgalenloliLmer @@ LI LoMHMID &TeV&EHL I LMHMID & T TesTLOmeoT L
2 WIJ SjeTelLeT @LILaIT. BLh&&Teor LG @5 2 L6VaIME 616078 SBSLILIGS M.
A': Round Body type

6UL_L_LDITEOT 2_L 6V 6U6M&
B: Hourglass body type

BTLlemns &L 1960 2 L6V 6Uen &
C: Inverted triangle body type

SLE LTS HBLILIW (PECHTEIT 2 L6V 6105
D : Shapeless Body type

aUq aILAELEVITS 2 L 6V Uem &

114
Match fobic core symbols with the fobric core operator :

in Bleaching i &
2} Drying i ’_]
[3]  DryCleaning () A
14) Core process not recommended (135 O

uligwey | g uliguiey |l 2 L6l CumH5SI65.

gswfl ugmofliy Qewsvur (BHLsir gjssfl LFmofiiy

Hlsimenrumenem GLIMHEHIS.
U6l [QleusTh & B60
(1) (Bleaching) U
(2) 2ei58 &6 (Drying) n
2_60I] FEUEmeU
(3)

uflbgienraasluLailsiensy (i)

(4)  urmofluy QFwsiwsnm (V)

o>

A (D), (2)-(), (3)-(III), (4)-(1V)
(D-D, 2)-(D), (3)-(110), (4)-(1V)
B: (D)-(V), (2)-(I), (3)-(D), (H-D)
(D)-AV), (-1, (3)-1D), (4)-(D)
C: (-1, )-(D), 3)-(IV), (4)-(D)
(D-1D), (2)-(D), (3)-(AV), (4)-(D)
D: (1)-(), (2)-(), (3)-(ID), (H-AV)
(D-), (2)-(1D), (3)-1D), (4)-(IV)
Fluorescent whitening agents are also known as .
e6rfl QeuEbLiL s&myeooflaeT @ ULigun SimlwliL@Ln

A Optical Brightening agents
2 L Qeormerfl@pLb &Imiyeoot] g6t
B: Oxidizing agents
21,86N012266TMM &ITT600f 56T
C: Starching Agents
LD &5 ITT6u0T1 &5 6T
D : Antiredeposition Agents
LS6T LIg6) B\ S6V 5 ITIeuot] 86T

Measurement of a person from highest point of Shoulder to top of bust refers to :




@ BLUK6T eme] CHmaTUL emL 2 F&L1 LaTeflulled®h &l L Biesll eueny GmlLILIS

A': Back waist length
et @emL BHerid
B: Back Width
L960T &y &euLh
C: Neck to bust
HWHS NSV DMLY
D : Shoulder to bust

CaHmeTLIL 60 (LNGH6V LOMITL

41 What is the term used for a system where drainage and sewage are carried independently through separate sets of conduits ?

FresaoL nmmih sWleBi & wenel HeflggeflwimeT B GLmil aulluImg: QFaTmTeL bSH SeMLILNME QLIWIT eTeoTeor?

A: Combined system

QeI HS SeMLOLIL]
B: Separate system
S60f] 9jeminLiLy
C: Partially separate system
UGS Sefl gjemioliyy
D: Unified system
R (HMHBITR 6T HS DlemLDLIL|
42 Given below are 2 statements :

Statement (1) :

Human resources can be improved through personal commitment and development of relationships.
Statement (1) : Personal development involves effort and broadening of relationships.

Choose the correct answer from the options given below

@ 76voT(h) FaMMIGH6T Q&HT(H &S LILIL (H6iTermeoT.

Famml |1 : 1060flS aUeTHIGEET, S6vfl 106vfls elILllw QUTMILIL] InMMILD 2 me|serfler aleTig&uilermey GO LIMEH el
Q&FUIW (PLQULD.

Famml 2 : euifler SeoflILL L auemFERWmeTs, (nWmHG mmid 2 me|sener allfla] b & Hen6v 2 6oL & @GS MEGLD.
EC QBETHGSELILLL el gefley @ha Filwumarans C5IH6 S Hh &N,

A: Both Statement (I) and Statement (II) are correct
FaMml 1 LDHMILD FnMHmi 2 LB Wenel Fifl

B: Both Statement (I) and Statement (IT) are incorrect
FaMml 1 IDHMID G MM 2 SR eI

C: Statement (I) is correct but Statement (IT) is incorrect
Fammi 1 &ifl SL6TMEL MM 2 H6Um

D : Statement (I) is incorrect but statement (II) is correct
Faml | HaUM SLETM6 Fanmml 2 &Fif]

43
Match the following List | with List Il :

List -1 List —1I
(1) Values (1) Perception of Values and goals
(2) Affective (1) Desirable and worthy
(3) Cognitive (1) Components fo achieve satisfaction
(4) Subjective (IV)  Positive and negative feeling

uligwiey I go uligwied IT Gy CQummbgis.

U igues | UL g6 1T

(1) w@lyssT () wHuyssT wHDID GO&GHETETEEl6T
everriley

(2) e-ewTjeySET () eNGOLSSESH WHDID WHULSSHES)

(3) Sizen () werhlenmey HrSealgW Fam)seT

(4) SisbHlemen (v) Comywsnm whHmib efljusnm 2 emriey

A (DI, (2)-(1D), 3)-(D), (4)-(IV)
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(D-aD), )-(1D), 3)-(1), (4)-1AV)
B: (D-(AV), (2)-(), (3)-(11D), (4)-D)
(D-AV), )-D), (3)-(1D), (4)-1D)
C: (D)-(AV), (2)-(), (3)-(I), (4)-(D),
(D-AV), (2)-(1D), (3)-(1), (4)-(D)
D: (-0, (2)-aV), (3)-D), (H)-(1D),
(D-AD), 2)-AV), (3)-1), (H-A1D)
The sampling frame from which sample is to be drawn is known as .
FLLBLU UGS F0nH 556060 BHSI Th&ESHLILGILD SI60011LS S 01 6TTUSI ................. eTeorILI@ILD.

A: Source list
eLOGLLILIL LG UI6Y
B: Sampling unit
US&FDY O5TSH
C: Non-respondents
UBleverflamgelfgser
D: Sampling error
UGS Dol LenLpgser
Which of the following best defines a system in the context of family resource management ?

LDemeoTeU6T GLoeuTeuaTemLoudladr LIMTemeuuiey, jeminliL] ereTLIGM & meor el fleuns &g s GLD& &L 6Th% QGMLT FmLILING
alauflaHermal 2

A: A single object with no relationship
@ULmeaH e H6fl QUITGET
B: A setof objects with no measurable attributes
HE00TEH L (LNLY LTS @) 6Me60or QILIMHL&H6T
C: Asetof objects and relationships between those objects and attributes
sUIL|meuMM @)6M600T QILIMIHL_& 65 & E @60 GUIWIMT6T Q&ML ITL| LOMMILD LI6OOTL| S MISH6T
D: Collection of people without defined goals
FHLLLAL MG §)6V8 &M 2 60 L0601 S & (D& 56T
According to Ernst Engles observations regarding the distribution of available funds, which of the following is true ?

6TedTeN L 6T6oTeR60160T (Ernst Engel) al GBS 6TLIG HenL&HGLD BIF al(BLomarsamns LIS FaiGH ev LleaTalmealsraimilev ergi
Frflwmer gamm ?

A AsIncome increases the percentage of income spent on food decreases, though the total spent on food increases.

QUBLOITEOTLD 2 W 2 W 2 eoorallH& TS QFave] QFWWLILGLD FHaf5D GBS CSH FIOWILD 2 6006 |HS5TH
QFAlLLILGLD QMES OFTans 3F&FlERMS

B: Asincome increases the percentage of income spent on sports on education decreases.
QUBLOITEOTID 2 W 2 W Vel H&MSH QFe QFWIWLILGLWD F56i5D GeaomHma!
C: Asincome increases the percentage of income spent on clothing and housing decrease.
QU(HLOMEOTLD 2 WIT 2 Wiy, 2 enL nmmih @BLUNL eF&&Esms QFualLLiLGLD F56i5D GanmRmEI
D : The rising of income shows a decrease in amount spent for health.
GU(BLOITEITLD 2 WIHLOCLIME! emeudb S Q&6 QS TS GmmEHMmE!
is a powerful social force influencing consumer behaviour.

GTEOTLIGI BISTGTT LSS UN6 HME&ESmMS FHLB SHH 19U @@H aledemnUMeT FULNS MW allend 9L GLD.

A: Habit
L& S eUNE&LID
B: Imitiation

GUMeLEF QFUIFHEY

C: Custom
oy
D : Fashion

BWUILL GUME G
Which of the following motivating factor is not an internal factor for entrepreneurs to start enterprise.

Qs M6l (EmeTCEUTT (H Bl MIGITSMSSH QS TLBIGISMES LleTal[HLh 26188061 l& G &6 serflev 6ThE eetrm
2 618 Trennl] 3j6v6V ?

A: Desire to do something new
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UBWSTE 5Tl S Term Q&F IWLCaITHQLETM SIS L&
B: One's educational background
eeuTfler S6vedlL1 LN etTevrenof]
C: Promising demand for the product
QUTBHEH& ST 25 &6 G0 CHeme
D : One's occupational background
@eufler 2 5H GuwImas LI LileTeorevot]
Given below are 2 statements
Statement (I) : Probability sampling is known as random sampling.

Statement (II) : Non probability sampling is known as deliberate sampling
In the light of the above statements, choose the correct answer from the options given below.

FECLD OHTH &SHLILLBETET oD MIGHEMET &HeUeT(L6T LIS g Filwimer eflenLenw G5 HASH &8 LD
FaMl | : Bl&BLSEH LFEFmMenm FaIMUILIL LSE T Ml 61608 SnMEVTLD.
Fahmi 11 : Bl&DS5H6] TS LGS T Henm CaleamBOWeTCm Q&WWlIQUMDM L% g Ml 616018 GnMEVITLD.

A': Both Statement (I) and Statement (II) are correct
Faml [ I0MHMILD ol 11 Fifl

B : Both Statement (I) Statement and (II) are incorrect
GO [ LOHDILD FaHOI 1T SH6euml

C: Statement (I) is correct but Statement (IT) is incorrect
Faml 1 Fif] SLe0TTeL So MM 11 Heum

D : Statement (I) is incorrect but Statement (II) is correct

Fa MM 1 H6Um LE0TT6L FnMmi 11 &if)

Match requirement of the plan in List Il with the steps given in List | ;

List-| List-i
Steps Pian requirement
(1) stet-1 1] Finalising solution
(2) Stet-2 () Space determination and develop altemate
solutions
3) Stet-3 L] Adding finer details
(4) Stet-4 (Iv)  Developing and presenting design

&L H suenruLD suemTeuSM(E Cohemeuliu(pib Ligsener Fflwmest surflemaullsy GUIM(H5 55

U 86iT sUEDIJ UL Gaemeusser
(1), Lusd 1) Sieysemer @& CaLise
(2) uy2 () @Lpems Hijentub Qg
5 wrHmI gr;msus‘%]wrru__rg,au
3] Uy 1 &&LOMeST 606U BISETST
) o g%@ QEFLIg6Y )
(4) L4 (IV) SUEMTULSHENS 2 (Heund:El ensg
STLAUUHSHIHEL

A (D-(ID) (2)-(1V). 3)-(D) (H-T)
(D-(D), (2)-AV), (3)-(1D), (4)-(D)
B: (D-(D) (2)-(1), (3)-AV) (H)-(1ID)
(H-aD, )-(), (3)-(AV), (H-1I)
C: (D-() @-aD), 3)-(1D) (4-(1V)
(D-(@), (2)-(D), (3)-(III), (4)-aV)
D: (D-1V) (2)-(1D), (3)-ID) (H-D)
(D-AV), 2)-(110), (3)-(11), (4)-(D)
Given below are two statements.
Statement (I) : Total income consists of money income, real income and psychic income.
Statement (II) : Total income consist of money income, real income and psychic income and in addition that part of money which has not been turned into

economic goods.
In the light above statements choose the most appropriate answer.

FECL @ T6tTT(H FoMMIGET QHTH &S LILIL (H6TeTeT.

FaMMI 1 : LIGOOT 6U(HLOITEDTLD, 2_600T6mLO U(BLOMTEOTLD L0MHMILD L0 60T G WIM60T 6U(HLOMEOTLD QL& UIAUMHENM 2_6TeTL&HR UG QLTSS
GUHLOMETLOMGLD.

Fa M1 11 : LIGOOT 6U(BLOMTEITLD, 2_6T0T6MLO U BLOMEUTLD LM MILD LO6UT IFG) WIMT60T 6U(HLOMEDTLD, G (H&6VITS QLIMBETTSTITLI
QUTBL&ETTS LDMMHMUILILTS aUBLOMT ] LGH WD CFIhEHS 2 6TeTL &R WS QLOMSS 6UIBLOMTETIDMEGLD.

GG GMIILILILR6TeT snmmissefley 1N&sF Fiflwmert aflemLemwt CEIHOS M.

A: Statement () is correct, Statement (II) is incorrect

Fam 1 &), Famm 11 Heum

B: Statement (II) is incorrect, Statement (II) is correct
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o 1 Seuml. sama 11 &l
C: Both Statements (I) and (II) are incorrect
FnMMIGET I, I @ Fevor(h LD Heumi
D : Both Statements (I) and (II) are correct

FaH M6 1, 11 @ Feoor(GGLn &l

Match the following :

List-l List-II
m Sash curtains (i) Straight curtains hung from rings along a
curtain rod
2) Cafe curtains () Softly gathered sheer fabrics hang from
arod
(3} Draw curtains (i) Decorative drapery at the top of
window
(4) Swag and cascade iv)  Cover entire window
WletTeu(meustaumenm CIUM(hHEH15.
Ul iglisy I UL iguwish 11
(1] &mes Hengssmeuser 1y @ Hengsdamey siblulletr
suemeT W& 61flel) (b &)
Clgmrigefl Ol L Grymss
HlenaFemen e
(2 &.GU HlemiydFeameussi {0 %a@ &LbL9udlsn
grrugseilLiulL
Cluwstremowinrs GeaflsasiiulL
Glosh Suem
(3] wom Hengsfeneussir () smergsSetr o
CopUypSH6eS B G
SIEURISBTT Gl SRS
HlenyaFemen

(4) 6i0EUTE LWHMID SMEGHL (V) (P FMENTSHENSWLID aphleug)

A (D-(i) (2)-(), 3)-(iv) (4)-(iii)
(D-AD), 2)-D), (3)-AV), (H-(1D)
B (D)-(iii) (2)-(ii), (3)-(i) (4)-(iv)
(D-1D), (2)-(D), 3)-(), (4)-(1V)
C: (D-(iv) )-(ii), (3)-(ii) (4)-(i)
(D)-AV), (-1, (3)-1D), (4)-(D)
D: (D-() )-(v), (3)-(iii) (4)-(ii)
(D-D), )-AV), (3)-(1I), (4)-D)
Given below are two Statements.
Statement (I) : Rating scales involve qualitative description of a limited number of aspects of a thing or of traits of a person.

Statement (II) : Ranking scales are comparative scales where relative judgements are made against other similar objects:
In the light of the above statements, choose the appropriate answer.

@\ Te0oT(H) G M MIG6T BCL QABMT(HESLILIL (DTS

Famm 1 DG LT B 26T CHTEVE 6T 62(H QLIMIB6rledT GMIILILIL L eTevor600r1 8560085 U6V ITEIT BN MBI 6T 21606V &I 6([H HLIK 60T
LI600TL| & 611 63T STLOM60T 6Nl 68 & &M 2 6oL &H&R WIS

Fammi 11 : sraiflens 26T G MeL&6T MM @65 QLITIHL&HEHEHE TH TTer LT (H 2676l CaHMTeL&ET 3@ LD.

CuMFanw MG &&H6TleL QUTHSSOMET LG emevs CHIHCHH &L,

A': Both Statement (I) and Statement (IT) are incorrect
GO T LOMMILD FonMMI 1T F6UMTETSI
B : Both Statement (I) and Statement (IT) are correct
Fam 1 DHMID Fodm 11 Fiflwmers)
C: Statement (I) is incorrect and Statement (II) is correct
FaMl [ HEUMTETSI LDMHMILD Ml 11 Fflwmerg)
D: Statement (I) is correct and statement (M 131I) is incorrect
Famml 1 FflWMeTS! IDMHMILD Gn Ml Il Saummers

The Greek oblong ratio for solids is :
FLL0MeT LITLILSEH&HHTr HCTHS QF6alalsHs S 6ar & s Inmearg.

A: 5:9:11
5:9:11
B: 7:9:11
7:9:11
C: 5:7:11
5:7:11
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D: 9:7:11
9:7:11

is the impression that the building is likely to make on the individual viewing it from outside.
............. eTedTLIZ Qeueflulled b e LT ef el LIMF&E&GLLCUTS gMUBID 20T 6] 3@

A Prospect
W&LULS GaMHMLD
B : Practical considerations
[560)L_ (LD 6D &>6L 60T Ml & 61T
C: Flexibility
WIHN & Q& T6TEH 560
D: Grouping
MU ol LemLDLIL]
and are the basic necessary steps for energy audit.
2L MMEV 5600118608 UIN 60T 3119 LILIETL_UITeDT, @) 60T LIEMIOWITS LILGG6T .......... & ..o &0

A': Energy measurement and energy monitoring
MMV 3j6mef®), DLMHMEV & 600T8s TevorlLIL]
B: Energy consumption and energy monitoring
SbMDME BISF6, SbMHMEL & 60018 Mevor1LiL|
C: Energy investment and energy monitoring
2HME WNSH5D), 2MHMEL &evoTss mevorILIL]
D: Energy conservation and energy monitoring
2,MM6L CFLALIL, &L MMEV & 600T8s Mevof1LIL]
Chesterfield is a type of
QFeTLFLIeu () eTedTLIS
A: Sofa
sl B&Hms
B: Storage furniture

GFLALIL] 3160) MG 6V60T8 6T

C: Stool
&HIT6VLO 6D 60T

D: Chair
BTMH&med

Which type of window does not lend itself for treating with glass curtains ?
6THG 6UEMTWITET FITETTE 605 FHE00T600T T @)L HlenTFFemeuImev LMk 186& (Lo WIMSI?

A In-swinging casement

2 6T &rlp6L FLL LD GUTLL FMemFLD
B: Out-swinging casement

Qauerfl &Lp6L FL L LD GUITLL SFTemyLd
C: Double-hung sash

@ TL60)L_8 &H600T600TITLY. & &6 FTETFLD
D : Dissimilar sized

RGHDWITS 2_(H6U6TEY

Given below are two statements.
Statement(I) : Questionnaire is considered as the heart of a survey operation. It should be carefully constructed.
Statement (II) : If it is not properly set up, then the survey is bound to fail.

FECLD @I FnMMIGHET QSBM(H &8 LILIL () 6TeTenT.

Fammi 1 : elleraley LI alWnenm &6 ahUile] (enmuileT @& Wnms SBSLILGEMS. erarGel allaraley LIl allD &eale6TLnmg
&L (HLomeTld QF WL Geuevor(hLd.

Fammi 11 : efleorausy Lilgauld FflWmg e aLILLTalL LM &6t ouUle] CsHreveiuiey (wolgujLb.

A: Statement (I) is true but Statement (II) is false.
Fammi 1 &1l L6016V Fn MM I Heumi
B: Both Statement (I) and (II) are false
FaMmmI I I0MHMID 1T SHeum

C: Statement (I) is false but (II) is true

Faml [ Heum aLermev 11 &F1fl
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D : Both Statement (I) and (II) are true
Famml 1 I0HmID 11 &if]

Given below are two statements. One is labelled as Assertion (A) and the other is labelled as Reason (R) :

(A) : Genetic-programming theories of ageing imply that there might be a genetically decreed maximum life span a human can live.
R : During Ageing the free radicals damages the cells, eventually organs result to stop functioning.

In light of the above statements, choose the correct answer from the options given below :

FECL @ T60oT(H) FnMMIG6T QB TH &G LILIL (H 66T, 6260TMI I600t1LI6MIT (A) LDMGMTETMI &ITF6sorin (R)

SleooflLenT A : LOTLISDI BlJeUM& &S CHTLLMGD), "6 L0601 SH60T 6UMTNESn QU 4L &TeulDd LI FHWms
BlFeooTuN & & LILIL 1 (H&SHEVTID" 6T60TMI Fo MG MSI.

SHMTFeOuTLD R : eUWIG 6T &HMTevgHlev LflEH WmGLD LA6TLISHe| QFe6v M milh 2 MILIL&eneT GF&LILIH S SIS 60TMeoT. )& 60T
aflemeTalmss Siemel QF WL SSI6UenS Bl mig S5 60T meor.

Fflwmer aflemL_em s CHTHAS M.

A': Both (A) and (R) are true and (R) is the correct explanation of (A)

A MHmID R @resor®Ld Fifl R etedTLIg A-ullest Fiflwimet eflemgaL0h
B: Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

A WDHoID R @eor@G b Fifl& R ereoTLIg A-ulletr Fiflwimest eflemd &b {66y
C: (A)is true but (R) is false

AR Heumi
D: (A)is false but (R) is true

A Seumi R &Fifl

Given below are two statements :

One is labelled as Assertion (A) and the other is labelled as Reason (R)

(A) : Socio-emotional selectivity theory asserts that older adults try to expand their social networks.

(R) : According to Socio-emotional selectivity theory, older adults place high value on emotional satisfaction and rewarding relationships.
In light of the above statements, choose the correct answer from the options given below :

FECLD @T6tT(h FnMMIGET Q& M(H &8 LILIL (DT, 660TmI &i6uoflLeMT (A) LOMHG MITETMI &ITT6uord (R)

SlewflLenT (A) : Fens 2 aTie] C5Tal s GaHMLLIMM eUWSTTaITSH6T HL0G FeNs oIS aTHan s allflalmssasd Q& Wil
WWHH QFwiald eredTml eleWmMSSRME!.

GMTIEOUTLD (R) : FENG 2 600T 6 CHT6Yd G ITLLIMLIQ60TLIL, 6 TeTel J&HET 2_600TJ6 LI LLIFEULDITET 06T Blenmey&H & 215 &
WERWaISSIaID Q&THLLCHTH L (HLDEVEVITINE 2 MEa (N M&HEMET 2616811 LI(HSSILIOIT&HETTS 6D 2_6T6eTer(.

A: Both (A) and (R) are true and (R) is the correct explanation of (A)

SlewflLenT A LnMHMID STIeTld R @Tesor(d &Fifl R gueorg A-ufler &iflwime eflemg s
B: Both (A) and (R) are true and (R) is NOT the correct explanation of (A)

AWDHOID R @reor@Gb &Fifl 9Lermeb R Speorsl A-ulledr &iflwimeor eflemg&Lh 9606V
C: (A)istrue but (R) is false

A Ffl R eum
D: (A)is false but (R) is true

ASaim R &F1fl

Given below are two statements :

Assertion (A) : Adolescents suffer from a special form of egocentrism which underscores risky self-destructive behavior.

Reasoning (R) : According to Elkind, adolescents are convinced that they are special, unique and not subject to the rules that govern the rest of the world.
In light of the above statements, choose the correct answer from the options given below :

GO OHTHSSLILLL @Teor( dammiserfley eerm 3i6uflLemT (A) LDH@MTETMI &MTI6uorLD (R).

21600f 1|6 (A) : QUETT @) 6D LITHeUS T 6T, QLIS S M6, & 3i8l6) BL GG IQ&HCHMIQL (B STLGID @ FmLiL
QUL AILDITET BIGBIGTIHSTEV LITH&HSLILGH MTIEET.

GITI6uoTLD (R) : 6T6LH600TL L9 60T SoMMILILILY, QUETT E)6ITLD LIS S 60T SMBIGET FNmLiL] eumilibSeuTser,

56015 S0 MTEmTal T8 6T LoMMID 2 V&R 6T LM LGS SHemeT BlIFauR &G S &HEH5E 2 L LI LeIFSHET {606V 6TédTmI [HLOLI
QEFWWLILL (HeiTermeory.

GLMH & 60T Fo MG 6rler Si1q Litienuilev Fiflwimer ellemnLenwl CHFe| QF IS,

A: Both (A) and (R) are true and (R) is the correct explanation of (A)
A WMHoID R @evor@G b &Fifl Gosuih R eTedrLIG! A-60T Fiflulmeor elleng: &L
B: Both (A) and (R) are true and (R) is not the correct explanation of (A)
AMHOID R @reor®Ld &l Goaiid R eTedrLIgI A-60T &Hlwimet eflemd&sIh 66w
C: (A)istrue but (R) is false
A &1fl 9L60TIT6L R SH6um
D: (A)is false but (R) is true
A SNl 9L60TMeL R &if]
Given below are two statements :
Assertion (A) : There exists a sound relationship between impairment, disability and handicap conditions
Reasoning (R) : The relationship between impairment, disability and handicap is perfectly linear as impairment condition result into disability and disabled

condition to handicap
In light of the above statements, choose the correct answer from the options given below :

FECLD 2_6/T6T FnMHMIG6T 6L 6260TMI {600 1LI6M T (A) LDHOMTETM &ITF6ooTLD (R) Q@G LD.
2|eouf L6 (A) : GemmUTH), @) UIGVTEnLD LDMHMILD 2eT6TlD G W BlemevsHEH&H S G enLCw CHflemL_CWw QSTLIL @HEHERMS!
SITI6uoTD (R) : GeOMLUT(H), @ U6Vl DMHMILD 26merid QL& WalmMInE&G @enlGw whnlawid GBIl QSTLIL BlevaSm.
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JQ60Te0 160 GEMMLIMLLTEL @WEUTenLd FMHUGH MS!. @) W6VTenLOWITeL 26T6Tld FHLGH MS!.
BGLnG6V 2 66T FnMmMiG6rfler g LiLienL_ulev Fiflwimer eflemLenl CHie| Q&g

A Both (A) and (R) are true and (R) is the correct explanation of (A)
ALDHMILD R @Teuor(Dd &ifl LoMMILD R 6TedTLIGI A-60T Fiflwimeot eilemg:&Lh
B: Both (A) and (R) are true and (R) is not correct explanation of (A)
A WMHoID R @eoor@G b &Fifl LnMHmID R eTedTLIG! A-60T Fiflwimeor edlemds &b 3j6v6v
C: (A)istrue but (R) is false
A &1l 9460160 R S6um
D: (A)is false but (R) is true
A SN 9L60TM6L R &Fif]

Name the theory of human development that emphasizes the role of nurture.
aueT LN 6T LiIlend auedlwmig il neflg alemid& Camiumlenl QUG HIg6T

A': Psychoanalytic theory
2 aTll LGLUUTWIeE CHTLum@
B : Behaviorism and social learning theory
BLEHMGEH CHTLLMH LoMMILD Fepd:d &Hmmev GamL_LIm@)
C: Piaget's cognitive theory
Nwmeglger simleummmey Gl um@®
D: Ecological Systems theory
GLPVEFTT SmLLILS6T CHTLLT(H

Ageism refers to .
QWS QUMSLD 6Ten S & GMERMEI?

A': Process of ageing gracefully
IS (LNSIEMLD {60 LD (LM
B: The study of ageing
Wgiemo umHmlw LIg Ly
C: Prejudice or discrimination against older person
QWIS TETOI T EH 8 & 6T T HaUMTET H(HSHH VLS LIMGLUTH
D: Acceptance of ageing as a natural process

QUIMEMSWITES gMUGILD eUWS! eLIen L M MISE & ITETS 6V

Which of the following period is identified as ‘Gender intensification’ period by the researches ?

WetTeuBLd Smeumigerfley 6Temg T MUFRWMETI&HET "LIMed6r Q& nfleUmd: a6 &TeULD" 6T6TMI 3f6m L WIT6TLILI(H & S16) 60T MeoT 7

A: Early Adolescence
WedT eueriflerid Ligpeuth
B: middle Adolescence
B® eueriflemib LigheuLd
C: Late Adolescence
Nedr euerflaTin LIl
D : Early Adulthood
QBMTLES WHFFRALILIHaILD
Which of the following class room adaptation is not suitable for children with Atteation Deficit Hyperactive disorder (ADHD) ?

L9 6076 ([H 61 60TEU D MIGIT 6THS QUG LILIENM H(LHEUEV SHEUeTLILINMTE &M S & L1LIGWITET QFWeLITH G MeTmm _6Tem
GPHMSHERHE JDDS! 606V

A Individual desk arranged in rows facing front
(L6 TR TOSHMETEBLD auflengFsefley emns&LILL L SeflliLl L Clueng
B: Alloting seats closer to the teacher's desk
AT CLOMFEHGS AR @) (H5M&HHET RSI5EGSH60
C: Alloting seats near by windows for calmness
SN F G T QETETHEH5 S U [BHCH G)[HEH 60 &S 6T 62515 @560
D: Providing independent working space when demanded

GsemeallILIQIDECUITS & W TS 60TI0MeT Galemey @)L &6 6ULDMHIGHE6.

A white, cheese like substance that covers the foetus and prevents the skin from chapping due to constant exposure to the amniotic fluid is called :

QUETI& (HEDIGY LD IHE)(H 5 &0 Gl6U6ToT LITELITEn L& L1 GLIMETM QUIMB6T, Liel& @ LBiler Qs mLida wmer QeuerfliiLim

STIETONS CSHMeL Fensalenss SH&HHMSI.
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A: Amnion

&H(HF F6l6)
B: Chorion

& Qauerfluyemm
C: Vernix

Heflha QWS
D: Lanugo

GemeILFa Ll UL WLy

The type of aging process, which is gradual and inevitable, where the bodily deterioration begins early in life and continues throughout the life span is

(PSIMLD 6TET LIS QLNGIaUTSEALD, HallJ&H S (PQWMSSTHEID, 2 LFens oMM aurpelsr Q&ML&65CnCW L rnLilss

QUITLDIBITET (LO(DEUSILD QSTLTeUSI

A': Primary aging
(PSETEOLD (LN SIETILD
B: Secondary aging
@) TEUOTL_ITLD Blemey (LNGIemLn

C: Functional aging

S LILIDL (LN SIDLD
D: Social aging
FONS (NSO
Match List | and List 11 -
List1 Listll
(1)  Social Exchange Theory (I} It explains how society works, how families
relate to the larger society and their own
members.
12) Structural Functionalism  (II) It views the family as a structure of related
Theory parts or subsystems. Each part camies out
certain functions.
{3) Confiict Theory {lil}  This theory measures our actions and

relafionships on a Cost this Benefit analysis.

(4)  Family Systems Theory (V) Life involves discord. This theorists see
soclety not as basically Cooperative but as
divided with individuals and groups in conflicts
with each other,

Choose the comect answer from the options given below :

uLigwey | mmd uligwsy Il g QuhHHEs.

uiguweb | uligwen Il
(1) &epsluflorbmé () &epsw ssusurm) ClewsiufEmg), G HLUmSsT Guflw
Gamlum() FPSHHEILEID, ShseT ClFThS 2 mILSleTe eThLen D
eteusuTm) CBTLTY Clemerdsiment eTeiTLcn S
siflemé & &l ).
(2) sliemwiy Qswsumiyuwsy () @& GHLUSMS AHTLTLMLL LGS ST Si0e05)
Camium) &6 68T e LIL|S6ITI6T S LemLILITS &(1S)Em &)
@eublsumm ugSub fev Qswesur(asnar
CumClamsrdsimmenr.
3) wpramur® Camiun@ ) @iss Cariun@) bog) CFwsvasr LHID 2 MeysHeamn T
GlFsua-HeiTenid SjigliuenLuilsy Serail(hElma).
4)  GELU smwlyssTIsT (IV) eumb&ens (praETLTLmL 2 6TemLsHIWLg). B)bss
Gamium(y) GamlunlLmerjasT FepashHls iy lusmLudlsy sal{Hmey

@)susumiosy, &euflbELIT&ET MDD (& (LpSHS6T
@(Heu(HS6IST(HeT (PresTuL(h) e sTensTs
ST E6IT.

£6y Qarhlésiul Lameusafsy sflwrer uSens CaTHhels6lEssa,b.

Az (D-D, )-(1V), 3)-D), (4)-(I1T)
(D-(D), (2-aV), (3)-(D), (4)-(1T)
B: (D), 2)-(D), (3)-(1V), (4)-(1D)
(D-(I), @2)-D), 3)-(AV), (4)-(I)
C: (D-(V), @)-(D), (3)-D), (4)-(T1D)
(1-(aV), (2)-(D), (3)-(1D), (4)-(1T)
D (1)-(I), (2)-(1D), 3)-(V), (9)-(D)
(1)-(I), (2)-(11), 3)-(V), (9)-(D)
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Match List | and List I :
List |
Parenting practices

(1)  Warm and responsive parental 0]
Interaction during first two years of child's life

2) Parents who encourage their toddier's ]
curiosity 1o explore the environment

3) Parents who have regular bedtime [y

schedules maintained for their pre-term

List Il

Children's development
Children tend fo have
fewer behavior problems
than other children
Children tend to have
more patience, self-
control and deliberation
Children leam new skils,
find opportunity to interact

and younger children, with others and decrease
Ikelihood of engaging
in unhealthy behaviours
(4] Parents who organises structured activities (IV)  Children improve their

which are exciting and enjoyable for their
chiidren.

Cognitive abilifies

Choose the comect answer from the options given below :

UL igwiel | ohpnb ulipwes Il g Qummsgis.

UI.. wed |

Gluﬂ:@mmﬂét uulim &l gpen m st

(1) Gpbesaumpsemsdis ped @ren@ U]
Supen(plaafisl sisTumeT wHmD ubss
siflamssayw QubGorflear Ggmuiy

2) G grnisubs shsa gpbmpseilsa (1)
Sy Teuhen s pard g elldE 0 ClunEnniesT

(@) ufems snuBenged Genaru )
BYHDBHEHHGD 6 phs0TE UGS CBT
SLLEUSHETTENL 606U S E (D
QupCmnjmen.

(4] s GobEssELEE 2 Hensore wHmb (V)
wilpflueflsesn slLmwsaoule
BLEUY EensEenen U Clewign
QubGmmyEeT

Az (D-(ID), 2)-(TID), (3)-(IV), (4)-(D)
(1-(D), (2)-(II), G)-(IV), (4)-(D)
B (D-D), )-1V), 3)-D), (4)-(11T)
(1D-(D), (2)-aV), (3)-(D), (4)-(1T)
C: (D-(D, (2)-D), B)-(V), (H)-(D)
(-, @2)-D), 3)-(AV), (4)-(I)
D: (D-(V), (-1, 3)-D), (4)-(11T)
(1-(aV), (2)-(D), (3)-(D), (4)-(1T)

Match List I and List Il :
List | List Il

Types of Leamning Descri

ulguien il

(Bpheng susTisdl

wihp Gghessmadl GphesaEnie Geonaurer bLbess
Dy FEFenetr e & aTarET.

ﬁmmm Sifls Qurpenwen b SwsLHourienLyn
med Glei e e .
@hemssd yfu Hne s s IS0 i

LE3T L@ uSn&Te sumUien L s ilElmmisear
l-D.'ﬁmiW graSwnhn bLbempsaia rHlufiughaner aumiiemu
'm

g:mmwﬂ!w sirfleysBimen Cubuiid

ption

(1) Operant Learning U] Substituting acceptable emotional response
for unpleasant one

2) Imitative Leaming () Usefulness of reinforcers and the time of its
presentation

(3) Cognitive Leaming () Exposure to models exhibifing desired
behaviour

(4) Emofional Leaming IV}  Leamning appropriate responses for better

adaptation

Choose the correct answer from the opfions gi

suiflens | g suflems: Il 2. Leor GILIM(HSE)6.

ven below :

suiflens | aufleme I
&)V 6UEH 6T el &L
(1) CeEwsurh snHmed ) emHousSEs 2 eoriad iy, Feuwnmer
sréhlFeiflememey & (6Th (& Lblevns
MM E) ST ETT6T Falg WM S LMMMIHE)
(2) &mus sHmE) ) sugneu BHusummlstr Lwsirum(s) wHmin
Sieumenm GleusflssmifHib Crro
(3)  efleurhmed sHmsh () eNBHLUSSESS HLESHUEHLIL
wrdflasnsr &rlhHss
(4) 2-ewridd sbHme Iv) @wama FHDTIGUTH
wrH&ClETsTEnHLD CUmhHELTes
ulsveflés smmey

A (D-(ID), -, 3)-(IV), (9)-(D)
(1D-(D), (2)-(II), G)-(IV), (4)-(D)
B (D-(D), 2)-(1V), 3)-ID), (4)-(T)
(1-(m), (2)-(aV), (3)-(I), (4)-()
C: (D-(IV), )-(ID), (3)-(ID), (4)-(D)
(D-(IV), (2)-(1), (3)-(11D), (4)-(D)
D (D-(II), (2)-(D), ()-(1D), (H-(1V)
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(-0, 2)-D), 3)-(D), (4)-(V)

As per ecological theory, the process of reciprocal socialization between family members occur at :
@&Ledlwiev CaHIMLUIML Q6T 6ThG WL LEFH v GH LU 2 miliNerFseflenL G LITeuLIT FensLWLDTESH60 Q& W 6D (Lnenm
Bl&LEDSI.

A Micro system
L&GTT FeivLLD
B: Meso system
WG HevLLd
C: Exo system
678 @6 FleuL LD
D: Macro system

G&EHT HeLLh

The formation of amyloid plaques is characteristic of :
SjmeTUIL L1CaTs & s 6rfledr 2_(Heume: gL GOT LI6DOTL| 94, LD.

A Osteoporosis
eTeVILDL|LI Liem T
B: Alzheimer's disease
VM FL GBITUI
C: Parkinson's disease
UMT&erser CHMU (9) BH&EGS eUMsLD
D: Subdural Haematoma
FUIGTe @ GL M
Given below are two Statements :
Statement (I) : Dementia is a Global term indicating a neurological disorder

Statement (II) : Parkinson disease, is characterized by Gradual deterioration of memory reasoning and eventually Physical function
In the light of the above statements, choose the most appropriate answer from the options given below.

FECL @ T6TT(H) FoMMIGET QHTH &S LILIL (H6TeTenr

FaMmi1: @MTLS IDMS) / 19QeTRWIT eTedrLIg B CaHTeTTanms GM& G 2 cuseTmallll Q& M6 Sy,@&LD.

Famm 11 : BOSGUTSLID / LTS 60r& 60T CBITIL 6TedTLIS! BlemeameuTHmey, LGS Snle] mmild @aSHuiléy 2 L6y Qaweuum@
@ weaimmlest L LiLgumeT Filse) LG W LIGTTL&HeneT 2 6mL UG

GG Q&EMTH &E&LILL 6T g mmigerletr i Litienulley, Nereupid ellpLiLkisefley WasFaflwmearensg Cse] Q&lIs%s.

A': Both Statement (I) and Statement (II) are correct
Faml [ IDHMILD o 11 FflwmeTenal

B : Both Statement (I) and Statement (II) are incorrect
Faml 1 LOHMILD Fad o 11 HEUMTETENE

C: Statement (I) is correct but Statement (IT) is incorrect
Faml 1 FfWITETS! OLeTME FnM Ml 11 &6UMTerS!

D : Statement (I) is incorrect but Statement (II) is correct
Fa MM I HEUMITEOTSI 260TT6V FanMMI I &FflWimeoTs)

Identify the area of Specialisation that helps to understand why and how individuals grow and change over their life span.
615 M & MHMILD 6766 TN D601 ST 6T HBIG6T 9L UL SHTeVSH 6 aUaTTHES, DTMILITH 2f6mL G6dTM60TJ 6T60TLIM S
U h&Q&meTer 2_ga|h AL Lieuseans &eor(hLN19.85856]L0.

A': Educational Psychology
Hevall 2_emailisy
B : Social Psychology
Feng 2 areillev
C: Developmental Psychology
QUETIER 2_aTailwlev
D : Ecological Psychology
FMHMIEFGLP6 2 aTailiie)
Based on Triangular Theory of love identify the compassionate kind of love..
(i) Intimacy

(ii) Passion

(iii) Commitment

VG TETQLTS (LNETTEn6US S {60TL| (N8 G Teuords C& ML LIML19.60T 419 1Lt U6V, &) 60600 LITeT 3j60TLI6dT LSS meor 6ot 6ot
FH6060)6U6DL 60 L_UITEITLD &5T600TS.

(i) QBBH&HS&HLD

(ii) G (B6TOTTEY
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(i) @IV W QuImmILiL]
HITH6V (NG CHTEo0TE: GoIMLLIML 19607 319 LILIen U6V @) 66007 LLITET 2{60TLI60T 61 6m &MU 360 L_ULITETLD &5T600TSs.

A (i) and (ii) only
(i) nMMILD (i) LD
B: (ii) and (iii) only
(i) LDMMILD (iii) DL HLD
C: (i) and (iii) only
(i) LM MILD (iii) LOL_(HILD
D: (i) only
@ LB
Which of the following is not a non-test device for counselling ?
L9 6576 (15 61 60TEU D M 61T 6781 U, B6VITEF60)60TE: & T60T G&F TG 60607 Q& UILILILIL TS FITSE0TID {606,

A Minnesota Multiphasic Personality Inventory
QeTE L 1D6LIGGLIE S,EBenLL LIL 19 UI6)
B: Cumulative record
R O OWLTEHS LK e &6t
C: Case Study
GBey b6y
D: Anecdotal record
Bl&LEAL LG ey
The directive / authoritarian approach of counselling is based on.
6THS& CHTLLIMLL60T 319 LiLiemLuev 21, CeumEFaneotuler eulliBL & &6V / FFeUTRGTT | 600IE MM 6MIDHS 2 6TeTs! ?

A Psychoanalytic theory
2 erefley LGRS CHTL LM
B: Humanistic theory
06oflECHIIS GSHTL_LITH
C: Behavioristic theory
BLESMGHEH CHTLLMTGH
D : Reciprocal theory

ugeuy GamLum@

Maich List with Model of Communicafion.
Elements of Communication Model of Communication
(1] Source - encoder - signed — Decoder [l Berlo's model of communication
Destination Decoder - Destination
(2) Sender — Message — channel - Receiver [l Schramm model of
communication

3] Communication - Message - channel - (I} Rogers and Shoemaker's Model
Treatment of message - audienc- of communication
Audience Response

(4)  Source - Message - Channel - Recelvingliv) Lecgon's model of
Individual - Effects communication

55LGISTLIY FaniseneT S86u6b ClgmLiy wrdlflaGarml) Clummss)s.
556U6L L& TLIL FamiseT &eusv Qg mLiL wrdlflaer

(a) Gamrmmisumi - @plusiLmeri - (ii QuiGeumsiv
GOlens - GUHWE sG] -
Qevs©

(b) SHISULYETT - S5H6U60 - 2eTL LD - (ii) 3l
Gumjueul

[c) B%eueb QBILIY - s&eush - et &b (i) GITggFe & aF® CussTen
- HHAIL NHIIMTEY H60 -
LT 6mEULLITEIT T &61T -
urFeneuwimeTFserfles wmieilent

(d) GarHmieuml - 55616 - 2LSID - (iv] eSmetreiv
Qumjueur - eflemerey

Az (D= (2)-(ID) 3)-(D) (H-(IV)
(@)-(iid), (b)-(i1), (¢)-(D), (d)-(iv)
B (1)-(IV) )-II) 3)-(ID) (4)-(D)
(@)-(iv), (b)-(iii), (c)-(i), (d)-(D)
C: (D-(D) (2)-(D) G)-(IV) (H)-(1ID)
(@)-(ii), (b)-(i), (¢)-(iv), (d)-(iii)
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D: (-0 -0 3)-1I) (4)-AV)
(2)-(®), (b)-(i), (0)-(iid), (d)-(iv)

The Expansion of SMTP :

eren.6T1D.1q.. L9 ulleor eflifleumgs ssin.

A Simple Message Transfer Protocol
FDLN6T QCHFS 19 TTeiTeNS LT LIGTTGLITST6L
B: Simple Mail Transfer protocol
b6 Qou6v 1q FmedTen S LT LIGTTGLMET6
C: System mail transmission protocol
FleivL b QLoudlev 1 ImeTen S LT LIGTTELITS M6
D: Sample Message Transfer protocol
FmLI6T QUCHFS 19 T TeTenS LT LICTTGCLITST6
Given below are two Statements
Statement (I) : Two way ANOVA technique is used when the data are classified on the basis of two factors.
Statement (II) : Latin Square design is an experimental design used frequently in agricultural research. In such a design the treatments are so allocated among

the plots that no treatment occurs, more than once in any one row or any one column
Choose the most appropriate answer.

FLPG&HGHTERID @) T6or(h FnMMIGH6TULD LIS S L6 68 ellenLemw CaIHOSMH &EH6]|Mn

Fammi 1 : @revor(h &Tyevot]serfledr oliq iLenLul6) 6y auemnsLILGSSLUILGWLEUTS @) @heuls SIG6TTeUT BiL LIMIgG 6T
LweTLR S S L1L [ & 6T meoT.

FaMmi 11 : LSS T FHIT QUIgEIMIDLIL] 6T6TLIG eleusF Ml Qb TMFR UL 1966519 LIWeTLOSSLILIBID @5 Q& WIWenm
QU UEMOLILIMEGLD. @)6u6ulgeuemnioliliev afleudmw Blevmhigerfley LM G&TeTaTL LMWL UFFTISHS WWHRGET 6THS 6 (H
aiflengwilaid 6T s @@ QBH auflengullaid e WenMEE GL6) GLMASTETETLILIL DML L TSI

A: Both Statement (I) and Statement (II) are correct

FaMHmI I LOMMID Fnmmi 1 9B W @ Tevor(GHIGL Fifl
B: Both Statement (I) and Statement (IT) are incorrect

FaHm 1 I0HMID Fammi 11 S W G Tesor(HGLD Heum
C: Statement (I) is correct but Statement (II) is incorrect

Fammi 1 &1l 9L60TTeL Fn MM I Heumi
D : Statement (I) is incorrect but Statement (II) is correct

FaMl [ HEUMI SLETTV Fo MM 11 &Fif]

The theory of “Spiral of silence” was initiated by :
"QILDETETES B 60T &+Lp6V" 6TedTM CHITLLIML6ML UGS el

A: Mc Coombs
QD& En DL

B : Noelle Neumann
GBITWIEY Blu|GLoedT

C: Katz
SHITL6

D: Lazarsfeld

UMTEFMFEN&GILIGUL

Match the following visual aids with their standard sizes:

Visual aids Standard sizes
(a) Leaflet (i) T 20-% 7
(b) Pamphlets (i) 10" x 5"
(s3] Poster (iii) 26 x 38 cm
(d) Chart (iv) 60 x 90 cm

&Gy Carhssiiul hsTer &l H& &meilsaner 2i56TH60r Hleneuiimest
2yemeysemLen Fflwurasl QuTHS 5%,

sl s(meilssir HENEVIITETT 16TeY S6iT
(a) Sl Sy&TD [y 12"x17"
(b) HopoléEans (i) 10"Xs"
(c) usTems (i) 26 X38 Q&b
(d) suedTULLD (iv] 60 X90 Gl&.b.

Az (a)-(i) (b)-(1) (c)-(ii) (d)-(iv)
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(@)-(ii), (b)-(i), (¢)-(iii), (d)-(iv)

¢ (@)-0) (b)-(ii) (0)-(iii) (d)-(iv)

(@)-(i), (b)-(i), (0)-(iii), (d)-(iv)

¢ (a)-(iii) (b)-(D) (c)-(ii) (d)-(iv)

(@)-(iii), (b)-(0), (¢)-(i), (d)-(iv)

- (@-(0) (b)~(iv) (0)-(ii) (d)-(iii)

(@)-(1), (b)-(iv), (¢)~(ii), (d)-(iiD)

Identify the incorrect characteristic of feedback in communication.
556160 QBTLTL&6M6L LTl LD GMISS &6)MIT6oT LIGUTL|856M6IT &600T L 1 &.

A:

Match the following folk media with state:

(a)
(b)
(c)
(d)

Feedback is receiver oriented

LesTemrl L b QUAIBT FTHHSS

. Feedback varies in different communication situations

QalcGaIm H&H6aI0 QFTLIL GLpBleneusarfley NeTeam L b CaumiLiG&Hm.

. Feedback affects the source

Nerenm L 1b eLpevGeng LITH&Hma!

. Feedback exerts control over future messages

NeremrmL_ LD eTHT&H M6V QF LT &Hen6T &L HLILOS SR M S

Folk Media
Nagual
Maach
Yakshagana

Khayal

Choose the comrect answer

State

Karnataka

Madhya Pradesh

Punjab

Rajasthan

£psaeure urgoufiu GhSIW HTLES SHemeuenwl g6 Fiflwmest
orHlevs s|Leir ClUM(hS 56,

(q)
(b)
(c)
(d)

A

urgbuflu @hEW HILSS Sene

H&EUTEY
LoTE

W FO% & TET T
SHWIMeL

(@)-(iii) (b)-(ii) (c)-(D) (d)-(iv)
(@)-(iii), (b)-(ii), (c)-(D), (d)-(iv)

¢ (@)-(iD) (b)-(v) (¢)-(D) (d)-(iii)

(@)-(iii), (b)-(0), (¢)-(iv), (d)-(iD)

(@A) (b)-(id) (¢)-(iid) (d)-(iv)

(@)-(1), (b)-(i), (¢)-(iii), (d)-(iv)

¢ (@)-(iv) (b)-(iii) (c)-(ii) (d)-(i)

(@)(iv), (b)-(iii), (c)-(i), (d)-(D)

fi)
(ii)
i)

(iv)

Lomrhlsuid

SBILELD
wHHEW GCssd
LIERFTL

JITEREM & TeiT

How many stages did Dewey outline with respect to reflective thinking ?
oS uedliL Abseneruilev 678 %5 6menr BleneudseT 2 aterenr ereor Guil GMILILIGS DT 2

A:

0 0 N N N N W
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Match List | with List Il :
List 1 List Il
(1) The memory used for the temporary U} Microprocessor
storage of Information on active
documents and programs
[2)  The Chip that controls the computer n Search Engine
[3)  Huge database collection and look for (my  Modem
either key words or phrases or for categories,
then subcase genes
(4) A device that converts elecironic (Iv)  RAM
signals from the computer into
sound signals that can be fransmifted

utiguwied | 2 et ulipwied Il gg QuTmS SIS,

ULiguIsy | uCigued Il
() @&wedley 2 emeT QueueRTRISGST WHPID Hiyssmefia i) meTrQswss

BHEeuel BHa&med Gaflee

uwsTuREEUUGIL FlenaTausd
b) senflaflenw sLHOUESZWD A0 i) CsHeumH
c) @uflusragger Coeafliy wppib WasHw Qerhedr  (jj) Cwrubd

Sisveug) ClEmpElmrLTEeT sisveug ifleymer, Seremy
BlemewT euenmaeneT s G Hleug

(d) seflaledmhe Weenan sullsansaane gebl liv] wi.g.emb
FUI&En(EhSETTE LIDDEFAL @ FTSETD

Az (D-D 2)-(0) 3)-ID) (4)-AV)
(a)-(i), (b)-(D), (0)-(iid), (d)-(iv)
B: (D-(1V) (2)-(D) (3)-(T) (4)-(1D)
(@)-(iv), (b)-(iii), ()-(1). (d)-(ii)
C: (D-) @)-dI) 3)-(D) (H-AV)
(@)-(®), (b)-(iid), (¢)-(id), (d)-(iv)
D: (D-(IV) (2)-(D) 3)-D) (4)-(11I)
(@)-(iv), (b)-(D), (c)-(i), (d)-(iii)
A popular multimedia technology which accesses the video Images stored on a two-channel audio disc is :
Q® semevaufleng g CWIT Ig6VEHL GFLAGSLILILH6Ter aflq G LIbLIMIS6T Sgmi@Lb LTLeuLnmeT Lear. &g

Qs mdleLsIL LILDMeTSI
A Teletext
QBMEELEHSTLG 2 eniy
B: Video text
aflg GuIm 2_emiy
C: Interactive Disc
oerl_mH I Ul
D: Interactive Video

oarL_mHID 6filg Gul

Match List | with List II.

List | List 1l
(1)  Aleaders tend to make followers ) Authoritarian
feel like they are an important part of Leader

the team, which helps foster commitment
to the godis of the group

(2) A Leader Is task or production oriented ()] Democratic leader
and centralizes power and decision
making in him/her|

(3) A Leader delegates work, itself () LayLeader
leader being hands-off and allowing group
members fo do some decision making.

(4) A leader is a volunteer appointed by as (IV)  Laissez faire
officer or supervisor or serve for a period
of time to meet the needs of a particular group

Choose the comrect answer from the options given below :
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UCigusd | - Ui Il Qlumme 5.
g | gy 1f

(1) B sl seurg QaramLiasmer ga’n%mm_u.l (BHopellesr () sfurdlamng senevaul
(PEEWILTET UMSTS 2 eoTTaug). Sl @uolu Qummyiy & weser
(BHIIHCHTET SIELL FHEIUTE SENOUWLD.

(2) B Benmevsust usnfl pdeug & HuSE srihseal. Meuflub e drer ()  mETETLES Seneveul
ai%mn!nb wHipd ppyGauBoueng enowlubEgS oy

3 s Sgdflflemss Cume Canpladlon], spamssw (| STETTERT Senaaul
HEnEUeU] HTET (Pietlafuuams saiilf emoferiseear o
wyCubss s sdnmy

4] B smaT @ GHuIiL sregdlie ueflurHn e (Iv) somdsis - SsGLiy
EraArT il &l Cubumiensuw gmes Bluwdlssiulie
EETETMTEURUT SLeum.

SpbasLubpst sflune getan Cabas6

Az (DD (2-(1) G3)-(I) (H-(1V)
(-0, (2)-(0), (3)-(1I), (4)-(1V)
B (1-(D) 2)-(D (3)-(V) (4)-(IIT)
(1-(D), (2)-(), (3)-(IV), (4)-(1T)
C: (D-(v) -1 (3)-aD (-
(1)-(1V), (2)-(UD), (3)-(10), (4)-(D)
D (D-(D 2)-T) G)-(IV) (H-D)
(-, 2)-D), 3)-(AV), (4)-()

has been described as a growing family of approaches and methods to enable local people express, enhance, share and analyse their knowledge of
life and conditions to plan and to act.

QUET(HLD GG DL 3 &DIG WM LOMHMID QFWIGVLPEMM 6TETLISI 2_6Teab T NG &6 HHBIGHET eUmTLheiliey Sinflel, @&LDBlem6u s ener
QeauefiL(G S5, CLLLOSS, LS T LHMID LTI D Gblensven S LIALa|bh S5MHCHML Q&FWEILILALD gi6Ts
S|EMLDEISI.

A': Participatory Rural Appraisal
oa1y& LIBIGSML LS LILTH
B: Participatory Learning Action
UEIGSHML &MMV G&FweuLIM(H
C: Rapid Rural Appraisal
ellempey 2aryss LHLILIGH
D: Participatory People Action
ID&SET LBIGHML] QFWweuLIm(H
“Sound Program development is a continuous process which provides for continuity as well as flexibility” was stated by--------- :

FLILmeT S L aleTTFSR 6TedTLIG QS MTLTFF WM Q&FW6WLNM 6D QS TLIFF WD, Iem6ThE Q&MTH &G
SETEMNEMWWILD SHRMS! 6TETLINS Fo MILIGUT

A Raudabaugh (1957)
TeYLITLITE (1957)
B: Holman (1957)
QMITELLOEOT (1957)
C: Rassi (1960)
7mendl (1960)
D: Leagnes (1961)
eSaeomerv (1961)

was the first Irishman who introduced the term Entrepreneur in the 20th Century

20-91D BIMHMTEToTIL60 QM6 (LLEm Tl 6T6TM QFMLEneY M(W&LILMGSH W (Wae 2ifle 6ol g eor

A: Knight (KNIGHT)
SemHL
B: Jean-Baptiste Say
eS6dT LIMLILg.6MVL
C: Richard Cantillon
NeaFFL G evoTIq.6060T
D: Cardula
STFG 6T

‘Which type of education forms a base for future education and that is beyond literacy ?
6THh&H & Geval, QUHMEIGTe HVGHE 219 LILIMLILTSH|D NWEHSMaHEG LILMHLL (HILD 2 _6Tengl.

A: Formal Education
WemETT &Hevel

B: Continuous Education




95

96

97

98

99

Q&TLT &evel
C: Vocational Education

Qamhm sevel
D : Remedial Education

utlaery seveal

In the concept of ‘Community Development’ with reference to extension education. The word ‘Development’ refers to :
alfleursss svallulléy Fnsmuw CLODUIMLLG.60T S[HSSILILILG. "G LT®H 6T6TLIS!

A Implies gradual and sequential change
UG LU WITEO QSTLFLOMTHMENSE & Ml& G0
B: Selfreliance
& FTFenLS GMl& &0
C: Create abilities
FMETHET 2_(HEUTSH G H6VE &N 8 G0
D : Build Capacities
HOETHETS &HLLMNGHVE &S EGLD
A rural development project on the basis of cooperation initiated by Sir Daniel Hamilton in 1903 was known as
&F17. GLeoflwev CamLdl6uL6ormel 1903-60 SlaUMhISLILL L @BHEISH 6Tl FMTIHS 261785 eleTiFe S LD

A': The Shantiniketan Project
FMHS BICHH6T HL_L LD
B: The Gurgaon Experiment
GTHTT Q& WM
C: The Sevagram Project
GFaUTRA M HLL LD
D: The Ideal village Project
FAmbs KMo S LD
Arrange the steps of Extension teaching in order.
allifleurg s sevallufler Ll senet aulflens LB S S

A . Attention, Interest, Desire, Conviction, Action, Satisfaction

SHaUeTld, gyFelh, ellGLILLD, BLOL&HN S, Q& W6, LDETHlemmey
B : Satisfaction, Interest, Desire, Conviction Action, Attention

LD6OT [Blemmey, Sy euLh, eflBLILILD, L& &, Q& W6V, &eUeTLD
C: Attention, Conviction, Satisfaction, Action Interest Desire

&6U6TID, HLDLI G 6m&s, NETBlemME], Q& W6, pFaild, ellpLiLILD
D : Satisfaction, Desire, Interest, Conviction, Attention, Action

06T Blemmay, el @BLILLD, QyTalld, FLLN&m&S, Halarid, Q& W6y

The learning which involves primarily the use of muscles of the body is called as.
2 L 606lT HenFHem6m LIW6TL(HGSIeU6e0S (LNSETenLOWITEHE G&TeuTL &MHMeV @ 6lalmml SemnndasILGHmal

A': Verbal learning
QMU LTS WIT6T &Mmmey
B : Motor or Skill learning
QWES(S)) BT HDHMe
C: Perceptual Learning
LIeVetTH TS & SHmev
D: Attitude learning

LO6OT LILITEOTEmL0 & MMeV

Given below are two Statements

Statement (I) : Non formal education processes and programmes should, in the long run, lead to creating awareness, in individual and society of prevailing
environmental solutions.

Statement (II) : Non formal education is intended for all age groups and sections of society

In the light of the above statements check the most appropriate answer.

FECL @ T6tIT(H) FaMMIGET Q&BTH &S LILIL (H6Terenr

FaDHmI | : WPOMFTTTE SVl QF WL MEET LMHMILD HIL L HIGET Beoorl HTeSH MG S6vflBLIT LoMHMILD Fend s H eV
Blevayld &HHDFGSI Gie s6T G1HS elblliletime gHLESS allbleGsELDh

Famml 11 : (PEMEMTTTS Hevedl TV QUG eTBHGLD Liflesers G o flug

B L& & 600TLaU HmI6T FiflwmeTend CHiey QF 1.

A': Both Statement (I) and Statement (II) are correct
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FaMHmI 1 LOMMILD Fnmmi 11 Fiflumeorgl

B : Both Statement (I) and Statement (II) are incorrect
FaHoI I LDMHMILD oMM 11 SeUMTETTS!

C: Statement (I) is correct but (II) is incorrect
Fahm 1 Ff WSl Sommi Il Seummers

D: Statement (I) is Incorrect but (II) is correct
Fa DMl | HUMTETSI ool 11 FiflWmeoTSl

Given below are two Statements

Statement (I) : Non-formal Education Programmes can be organised whenever it is most convenient to learners.

Statement (II) : The exact timings and length of non-formal education programmes should be governed by the environmental conditions as well as the learner’s
work and occupation schedule.

Choose the correct answer from the options given below.

GG @ T6uT(H) FoMMIGHET QHTH &S LILIL (H6Terenr

Fa DI : WPOMEFTITE SVl HIL L KIS SHHLMTHEHSE W& L aIgF&H WM CUTEGHMD gHUM® Q&FWIWLILILTeuLD.
FaDmI Il : WPMEFTTTE Hevellg G L kigerfler &iflwimeT CBImhIGET LDMHMILD &IT6V 66, &M MI& L0V [Blen6VemLng 6T D MMID
s&huUaflar Calemev LDMMILD Gauemev CHILD & WeIMMTL BlFaUGH & LILL Gauesor(hLD.

GLhaumeueTalmmieT Flwimer LHemev CHT6e| QFIWeaLD.

A': Both the Statements are true
@7 S D& EHLD Filwimers
B : Both the Statements are false
QU & HMSEBLD HEUMTETSI
C: Statement (I) is true and Statement (II) is false
Famml 1 Ff WSl o Mmi Il SeUmTers
D: Statement (I) is false, and Statement (II) is true

Fa MMl 1 HeUMTETSI Fn MMl 11 &Fifluimeorg)




